
 Ei = 3.224 keV  ΔEg  ΔEt

Cryst Refl EB ΘB ∫ IR dΘ Width Ei cotΘ ΔE 2m, 50μm 2m, 50μm

(h,k,l) [keV] [°] [μrad] [μrad] [meV/μrad] [meV] [meV] [meV]

Ge (0,2,2) 3.099 74.01 493.1584 518.62 0.9236 478.99 11.54 479.13

Quartz (-2,0,-1) 3.132 76.25 57.743 87.6 0.789 69.14 9.86 69.84

Quartz (2,0,1) 3.132 76.25 57.742 87.6 0.789 69.14 9.86 69.84

Quartz (2,-2,-1) 3.132 76.25 57.74 87.6 0.789 69.14 9.86 69.84

Quartz (0,2,-1) 3.132 76.25 57.725 87.6 0.789 69.13 9.86 69.83

Quartz (0,2,1) 3.132 76.25 22.968 49.7 0.789 39.24 9.86 40.46

Quartz (-2,0,1) 3.132 76.25 22.951 49.7 0.789 39.22 9.86 40.44

Quartz (2,0,-1) 3.132 76.25 22.95 49.7 0.789 39.22 9.86 40.44

Quartz (-2,2,-1) 3.132 76.25 22.949 49.7 0.789 39.22 9.86 40.44

Quartz (2,-2,1) 3.132 76.25 22.948 49.7 0.789 39.22 9.86 40.44

Sapph (0,2,-2) 3.157 78.27 5.594 28.2 0.67 18.87 8.37 20.65

Equiv. Refl.: (2,0,2), (2,2,0)

Equiv. Refl.: (-2,2,1)

Equiv. Refl.: (0,-2,1)

Equiv. Refl.: (0,-2,-1)

Equiv. Refl.: (0,-2,2), (2,0,2), (2,-2,-2), (-2,0,-2), (-2,2,2)


